
SERVICE PART GUIDE & SCHEMATIC
English

DIVERGE 4 CARBON



INDEX
1. WEIGH�T LIMITS . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                            2
2. COMPATIBILITY SPECIFICATIONS . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                             2
3. GENERAL SPECIFICATIONS . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                  3
4. GENERAL TORQUE SPECIFICATIONS  . . . . . . . . . . . . . . . . . . . . . . . . . .                          5
5. FRAME MOUNTING POINTS  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                  7
6. HEADSET . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                  9
7.  STEM AND HEADSET CAP  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                  11
8. HEADSET COLLAR  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                         13
9. HEAD TUBE ICR PORTS  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                    14
10. SEATPOSTS AND SEATPOST COLLAR . . . . . . . . . . . . . . . . . . . . . . . .                        15
11. DOWNTUBE MOUNT AND PROTECTOR . . . . . . . . . . . . . . . . . . . . . . .                       16
12. SWAT . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                   17
13. CHAINSTAY PROTECTOR . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                   18
14. CABLE ROUTING SCHEMATIC . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              19
15. CABLE ROUTING SCHEMATIC - SHIMANO DI2 . . . . . . . . . . . . . . . . .                 21
16. WHEELS AND HUBS . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                       22
17. SERVICE PARTS LIST . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                      27

SPECIALIZED BICYCLE COMPONENTS | 15130 Concord Circle, Morgan Hill, CA 95037 (408) 779-6229
0000219560_SPG_R1 04/25
We may occasionally issue updates and addendum to this document. Please periodically check www.specialized.com or contact Rider Care to make sure you have the latest information. 877-808-8154

SYMBOLS LEGEND

CAUTION FOR POTENTIAL HAZARDOUS SITUATION

IMPORTANT INFORMATION

DO NOT APPLY GREASE

USE HIGH-QUALITY GREASE

Carbon   

Paste 
USE HIGH-QUALITY CARBON ASSEMBLY PASTE 

USE HIGH-QUALITY BEARING RETAINING COMPOUND

USE EVERSEAL 183 THREADLOCKER

USE BLUE THREADLOCKER

ASSEMBLY DIRECTION

ASSEMBLY PATH

1 ORDER OF OPERATION 

CORRECT 

INCORRECT 

VIDEO GUIDE LINK 

GENERAL SPECIFICATION LINK

1DIVERGE 4 CARBON SERVICE PART GUIDE 



1. WEIGH�T LIMITS

MODEL
CARGO

STRUCTURAL
(kg / lb)REAR  

(kg / lb)
FRONT  
(kg / lb) 

TOW 
(kg / lb)

Diverge 4 Carbon (Pro, Expert, Comp, Sport) 14 / 30 14 / 30 0 / 0 125 / 275

STRUCTURAL WEIGHT LIMIT: The maximum total weight (rider and cargo) the bicycle is designed and tested to support structurally.

CARGO WEIGHT LIMIT: The maximum cargo weight the bicycle has been designed and tested to support structurally.

TOW WEIGHT LIMIT: The maximum weight the bicycle has been designed  and tested to tow with an approved bicycle axle-mounted trailer.

2. COMPATIBILITY SPECIFICATIONS

COMPONENT COMPATIBLE SIZES/SPECS

Upper Headset Bearing 1.5” (45.8 mm OD x 36.8 mm ID x 6.5 mm x 45°)

Lower Headset Bearing 1.8” (56.8 mm OD x 47.8 mm ID x 6.5 mm x 45°)

Bottom Bracket Shell 68 mm (BSA threaded)

Front Thru-axle 12 mm x 100 mm

Rear Thru-axle 12 mm x 142 mm

Min/Max Chainring (1x drivetrain)
Shimano: 31t / 48t 
SRAM: 32t / 46t

Min/Max Chainring (2x drivetrain)
Shimano: 30t - 46t / 31t - 48t
SRAM: 30t - 43t (only)

Min/Max Front Chainline 44.5 mm / 49 mm

Min/Max Front Rotor 160 mm / 180 mm

Min/Max Rear Rotor 160 mm / 180 mm

Chainstay Thickness at Rear Brake Caliper 30 mm

Min/Max Rear Tire 700 x 45c / 700 x 50c (with fender)

Min/Max Front Tire 700 x 45c / 700 x 50c (with fender)

Tubeless Compatible Yes (all carbon models)

Seatpost Clamp Diameter 30.8 mm

Seatpost Diameter 27.2 mm

COMPONENT COMPATIBLE SIZES/SPECS

Roval Terra Seatpost (Length: S 49-52, 330 mm | S 54-61, 380 mm) (Setback: 20 mm)

OE Spec 27.2 Seatpost (Length: S 49-52, 350 mm | S 54-61, 400 mm) (Setback: 21 mm)

Dropper Seatpost Compatible
Wireless: Yes
Mechanical: Yes

Rack
Front: Low-rider or cage-style
Rear: Seatpost clamp-style

Bag Mount Yes, top tube (Do not strap around Future Shock boot)

Fender
Front: Yes
Rear: Yes (frame sizes 52-61 use seatstay bridge)

Bottle Clearance 3 bottles 

Front Susupension Future Shock 3.0

Stem Length S49: 60 mm | S52: 70 mm | S54: 80 mm | S56: 90 mm | S58-61: 
100 mm

Stem Steerer Diameter Future Shock, 1 1/8” with shim

Stem Handlebar Diameter 31.8 mm

Handlebar Width S49: 380 mm | S52: 400 mm | S54-56: 420 mm | S58-61: 440 mm

Light Compatibility Stix lights

Button (Coin Cell) Batteries
SRAM derailleur shifters: CR2032
Shimano derailleur shifters: CR1632

2DIVERGE 4 CARBON SERVICE PART GUIDE 



3. GENERAL SPECIFICATIONS

74

20

20a
21

20b

20c

22

30

5

31

E4

E5

16e

E3

E2

E6

E1

8b 2915 8a

33

   

19

40

35

38 36

41

43

6

1

35

34

9

16d

18

16c
16b

25

23

17

16a

14

42

2

3

24

34a 34b 34c

39

10

11

12

13

13

32

44 37

3DIVERGE 4 CARBON SERVICE PART GUIDE 



PART PART # DETAIL

1 Frame Page 3

2 Fork Section 17 Page 3

3 Front Axle S200200010 Page 5

4 Rear Axle S200200011 Page 5

5 Saddle Page 15

6 Bottom Bracket Page 5

7 Rear Derailleur Hanger S202600002 Page 7

8 SWAT 4.0 Door 
A SWAT 4.0 Door 

S239900003
Page 17

B SWAT Door Cage Bolts S230500005 Page 17

9 Self Adhesive ICR Channel S256500002 Page 19

10 Down Tube Mount - Outer Bracket S209900016 Page 16

11 Down Tube Mount - Bulkhead S209900017 Page 16

12 Down Tube Mount - Bolt S179900036 Page 16

13 Down Tube Mount - Accessory Bolts S230500005 Page 16

14 Seat Tube Cage Bolts S230500005 Page 5

15 Top Tube Accessory Bolts S220500004 Page 5

16 Headset

A Lower Bearing  S222500004

S222500005

Page 9

B Upper Bearing S182500006 Page 9

C Compression Ring Page 9

D Spacer S172500021 Page 9

E

1: Future Shock Collar Page 9 and 13

2: Collar Barrel Nut Page 9 and 13

3: Collar Pinch Bolt Page 9 and 13

4: Collar Preload Screw Page 9 and 13

5: Collar Locking Screw Page 9 and 13

6: Collar Locator Bolt Page 9 and 13

17 Headset Cover 0 mm S192500011 Page 9 and 10

18 Headset Cover 15 mm S192500010 Page 9 and 10

19 Roval Alpinist 
Stem 

A Steerer Bolts

Section 7

Page 11

B Faceplate Page 11

C Faceplate Bolts Page 11

20 Future Stem 

A Steerer Bolts

Section 7

Page 11

B Faceplate Page 11

C Faceplate Bolts Page 11

21 Future Shock 3.3 S223100002 Page 9

22 Future Shock 3.3 Adjuster Knob S223100005 Page 11

23 Future Shock 3.2 S223100003 Page 9

23 Future Shock 3.1 (Not Shown) S223100006 Page 9

24 Future Shock 3.1 / 3.2 Top Cap and Bolt S223100007 Page 11

25 Future Shock Stem Shim S234800001 Page 11

26 Future Shock 3.0 Preload Spacers (Not Shown) S233100002

27 Future Shock 3.0 Spring Kit (Not Shown) S233100001

28 Handlebar (Not Shown) Section 17

29 Seatpost Clamp S194700002 Page 15

30 Roval Terra Seatpost Section 10 Page 15

31 OE Spec 27.2 Seatpost Section 10 Page 15

32 Down Tube Protector S209900018 Page 16

33 Chainstay Protector S206900002 Page 18

34 ICR Port

A 0 Hole (Cover)

S209900020

Page 14

B 1 Hole Page 14

C 2 Hole Page 14

35 ICR Grommet (Hose and Housing) S179900013 Page 19

36 ICR Grommet (Di2) S159900006 Page 19

37 ICR Grommet (Mechanical Shifting) S169900008 Page 19

38 ICR Plug (SRAM AXS and 1x Setup) S179900015 Page 19

39 Threaded Insert Plug S209900022 Page 3

40 Rear Brake Mounting Washer Page 3

41 Front Derailleur Hanger and Bolts (2x Setup) S201900001 Page 19

42 Front Derailleur Blocking Bolts (1x Setup) S179900036 Page 19

43 Seatstay Bridge S209900019 Page 7

44 Down Tube Pre-Applied Mylar Protector Page 16

4DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/axl-front-road-sl-thru-axle-12x100mm-bolt-on-6mm-hex-m12x10px121mm-alloy-black/product/654961?variant=678979
https://b2b.specialized.com/axl-rear-road-sl-thru-axle-12x142mm-bolt-on-6mm-hex-m12x10px165mm-alloy-black/product/654962?variant=678980
https://b2b.specialized.com/nl/s202600002/product/659254?variant=671914
https://b2b.specialized.com/msc-swat-40-door-assembly/product/1322689707?variant=1322689708
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/msc-swat-my21-diverge-downtube-bulkhead-spacer/product/663163?variant=674393
https://b2b.specialized.com/msc-swat-my21-diverge-downtube-bulkhead/product/663164?variant=674392
https://b2b.specialized.com/blt-plug-screw-for-threaded-frame-inserts-2mm-hex-head-m4x07px9mm-alloy-black-1-pcs/product/655662?variant=674120
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-m5x08px16l-alloy-5-pcs/product/1322637048?variant=1322637049
https://b2b.specialized.com/hds-bearing-18-lower-headset-bearing-568od-x-478id-x-65mm-45x45-deg/product/1322637332?variant=1322637333
https://b2b.specialized.com/hds-complete-integrated-future-shock-458odx368idx65mm-upper-brg-18-lower-brg-45x45-deg-w-fully-assembled-fs-collar-compression-ring-spacers/product/1322639781?variant=1322639782
https://b2b.specialized.com/hds-bearing-future-shock-headset-upper-or-lower-bearing-458od-x-368id-x-65mm-45x45-deg/product/659451?variant=676853
https://b2b.specialized.com/hds-sub-future-shock-headset-5mm-spacer-for-fs-cartridge-30mm-idx37mm-od/product/659429?variant=676882
https://b2b.specialized.com/hds-sub-future-shock-headset-1-piece-top-cover-short-bill-0mm-stack/product/659470?variant=676948
https://b2b.specialized.com/hds-sub-future-shock-headset-2-piece-top-cover-short-bill-15mm-stack/product/659469?variant=676947
https://b2b.specialized.com/sus-frk-future-shock-33-cartridge-w-o-stem-shim/product/1322509275?variant=1322509351
https://b2b.specialized.com/sus-frk-future-shock-33-cartridge-adjustment-knob-bolt/product/1322681492?variant=1322681494
https://b2b.specialized.com/sus-frk-future-shock-32-cartridge-w-o-stem-shim/product/1322509241?variant=1322509337
https://b2b.specialized.com/sus-frk-future-shock-31-cartridge-w-o-stem-shim/product/1322677503?variant=1322677504
https://b2b.specialized.com/sus-frk-future-shock-32-31-cartridge-top-cap-bolt/product/1322644025?variant=1322644026
https://b2b.specialized.com/stm-sub-future-shock-30-stem-shim-245mm-id-286mm-od-for-mounting-1-1-8-stem/product/1322689659?variant=1322689660
https://b2b.specialized.com/sus-frk-sub-future-shock-30-preload-washers-5-pcs/product/1322689662?variant=1322689663
https://b2b.specialized.com/sus-frk-future-shock-30-main-spring-kit-firm-yellow-medium-black-soft-blue/product/1322681470?variant=1322681471
https://b2b.specialized.com/stc-308mm-seatpost-clamp-bolt-on-collar/product/660612?variant=673447
https://b2b.specialized.com/msc-protector-my21-diverge-molded-downtube-protector-w-adhesive-backing/product/659947?variant=674394
https://b2b.specialized.com/csp-my21-diverge-carbon-frame-molded-chainstay-protector-w-bolts/product/659801?variant=670756
https://b2b.specialized.com/cbg-hood-scoop-kit-my21-diverge-icr-entry-port-covers-kit-2-cable-1-cable-blank-cover/product/655679?variant=674389
https://b2b.specialized.com/cbg-grommet-5mm-hydraulic-brake-hose-split-plastic-grommet-angled-top-75mm/product/655517?variant=670078
https://b2b.specialized.com/cbg-grommet-derailleur-exit-port-split-rubber-grommet-for-di2-7mm-od-x-27mm-id/product/655515?variant=670073
https://b2b.specialized.com/cbg-grommet-chainsaty-exit-port-split-rubber-grommet-for-4mm-shift-housing-flat-top-7mm-od-x-4mm-id/product/655655?variant=674148
https://b2b.specialized.com/cbg-plug-icr-exit-port-rubber-plug-w-s-logo-flat-top-7mm/product/655518?variant=670079
https://b2b.specialized.com/cbg-plug-press-fit-rubber-plug-for-unused-threaded-frame-inserts-wi-7194-8pcs-bag/product/658927?variant=674391
https://b2b.specialized.com/der-mount-my21-diverge-front-derailleur-mount-with-bolts/product/659250?variant=678634
https://b2b.specialized.com/blt-plug-screw-for-threaded-frame-inserts-2mm-hex-head-m4x07px9mm-alloy-black-1-pcs/product/655662?variant=674120
https://b2b.specialized.com/fnd-sub-my21-diverge-rear-fender-mounting-bracket-all-sizes/product/656982?variant=674395


4. GENERAL TORQUE SPECIFICATIONS

   14in-lbfNm 4 354
mm

15in-lbfNm-    - -2
mm

16in-lbfNm 1 92.5
mm

in-lbfNm1 9 2.5
mm17

in-lbfNm15 133 6
mm1

22in-lbfNm 0.8 72
mm

in-lbfNm25 221 8
mm3

in-lbfNm2.8 25 3
mm24

in-lbfNm2.8 25 3
mm24

in-lbfNm0.8 7 2.5
mm23

8in-lbfNm 5 444
mm

12in-lbfNm 2.5 222
mm

9in-lbfNm 5 444
mm

in-lbfNm5 44 4
mm10

in-lbfNm5 44 4
mm11

in-lbfNm1 9 2
mm13

5in-lbfNm13.5 1205
mm

in-lbfNm2.8 25 3
mm26

7in-lbfNm 6.2 554
mm

25in-lbfNm 2.8 253
mm

27in-lbfNm 2.8 253
mm

in-lbfNm2.8 25 2.5
mm21

in-lbfNm2.9 26 2.5
mm19

in-lbfNm2.9 26 2.5
mm20

in-lbfNm0.8 7 2
mm18

in-lbfNm15 133 6
mm24in-lbfNm 50 443

6in-lbfNm12.5 1105
mm

* See table on next page for tool specification.

5DIVERGE 4 CARBON SERVICE PART GUIDE 



# PART NAME SPECIFICATION TOOL
 TORQUE 

Nm in-lbf

1 Front Axle M12 x 1 mm P x 100 mm 6 mm hex 15 133

2 Rear Axle M12 x 1 mm P x 142 mm 6 mm hex 15  133

3 Rear Derailleur Hanger SRAM UDH  8 mm hex  25 221
 

4 Bottom Bracket 68 mm (BSA Threaded)  BB Tool  50 442
 

5 Saddle Rail Bolt (Roval 
Terra Seatpost) M6 x 1.0 mm P x 37 mm 5 mm hex  13.5  120

 

6 Saddle Rail Bolt (OE Spec 
27.2 Seatpost) M6 x 1.0 mm P x 51 mm 5 mm hex  12.5  110

 

7 Seatpost Clamp Clamp - 30.8 mm Diameter
Bolt - M5 x 0.8 mm P x 18 mm 4 mm hex  6.2  55

 

8 Future Stem Faceplate 
Bolts M5 x 0.8 mm P x 15 mm 4 mm hex 5 44

 

9 Future Stem Steerer Bolts M5 x 0.8 mm P x 15 mm 4 mm hex 5 44
 

10 Roval Alpinist Stem 
Faceplate Bolts M5 x 0.8 mm P x 18 mm 4 mm hex 5 44

 

11 Roval Alpinist Stem Steerer 
Bolts M5 x 0.8 mm P x 18 mm 4 mm hex 5 44

 

12 Future Shock 3.3 Adjuster 
Knob

M4 x 0.7 mm P x 4 mm 
(custom extended tip) 2 mm hex 2.5 22

13 Future Shock 3.2 Top Cap 
Bolt

M3 x 0.5 mm P x 8 mm 
(countersunk bolt) 2 mm hex 1 9

14 Headset Collar Pinch Bolt M5 x 0.8 mm P x 18 mm 4 mm hex 4 35

15 Headset Collar Preload 
Screw M5 x 0.8 mm P x 4.45 mm 2 mm hex - -

16 Headset Collar Locking 
Screw M5 x 0.8 mm P x 6 mm 2.5 mm hex 1 9

 

17 Headset Collar Locator Bolt M3 x 0.5 mm P x 4.5 mm 2.5 mm hex 1 9
 

18 ICR Port Bolts M3 x 0.5 mm P x 12 mm 2 mm hex  0.8  7
 

19 Front Derailleur Hanger 
and Bolts (2x Setup) M4 x 0.7 mm P x 10 mm 2.5 mm hex  2.9  26

 

20 Front Derailleur Blocking 
Bolts (1x Setup) M4 x 0.7 mm P x 10 mm 2.5 mm hex  2.9  26

 

# PART NAME SPECIFICATION TOOL
 TORQUE 

Nm in-lbf

21 Seatstay Bridge Bolts M4 x 0.7 mm P x 12 mm 
(fender mount M6 thread) 2.5 mm hex  2.8  25

 

22 Chainstay Protector Bolts M4 x 0.7 mm P x 9 mm 2 mm hex  0.8  7
 

23 Down Tube Mount Bolt M4 x 0.7 mm P x 12 mm 2.5 mm hex  0.8  7
 

24 Down Tube Mount 
Accessory Bolts M5 x 0.8 mm P x 11.5 mm 3 mm hex  2.8  25

 

25 SWAT Door Cage Bolts M5 x 0.8 mm P x 10 mm 3 mm hex  2.8  25
 

26 Top Tube Accessory Bolts M5 x 0.8 mm P x 16 mm 3 mm hex  2.8  25
 

27 Seat Tube Cage Bolts M5 x 0.8 mm P x 10 mm 3 mm hex  2.8  25
 

6DIVERGE 4 CARBON SERVICE PART GUIDE 



5. FRAME MOUNTING POINTS

6

4

2

1

3

11

10

15

14

5

13

16

12

8

7

7

9

# PART NAME PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 SWAT Door Bottle Cage Bolts S230500005 2 M5 x 0.8 mm P x 10 mm 3 mm hex 2.8 25 Bottle cage std, accessories

2 Seat Tube Bottle Cage Bolts S230500005 2 M5 x 0.8 mm P x 10 mm 3 mm hex 2.8 25 Bottle cage std, accessories

3 Top Tube Accessory Bolts S220500004 2 M5 x 0.8 mm P x 16 mm 3 mm hex 2.8 25 Bottle cage std, accessories

4 Down Tube Mount Accessory Bolts S230500005 2 M5 x 0.8 mm P x 11.5 mm 3 mm hex 2.8 25 Bottle cage std, accessories

 Bolts treated with blue threadlocker - apply grease to non-threaded surfaces only. DO NOT apply grease to threads. 

7DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-m5x08px16l-alloy-5-pcs/product/1322637048?variant=1322637049
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671


5 Fork Crown Mount 1 M5 x 0.8 mm P 4.5 40 Fender crown mount

6 Fork Blade Mount 8 M5 x 0.8 mm P 4.5 40 Fender strut, pannier rack, bottle cage std, accessories

7 Seatstay Bridge Mount 2 M4 x 0.7 mm P x 12 mm 2.5 mm hex 2.8 25 Seatstay Bridge

8 Seatstay Bridge Fender Mount S209900019 1 M6 x 1 mm P 2.8 25 Rear Fender

9 Seatstay Fender Mount (Size 49 Only) 1 M5 x 0.8 mm P 2.8 25 Rear Fender

10 Dropout Rear Rack Mount 2 M5 4.5 40 Rear Rack

11 Seatpost Clamp Rack Mount 1 M5 x 0.8 mm P x 18 mm 4 mm hex 6.2 55 Rear Rack

12 Front Derailleur Hanger 2 M4 x 0.7 mm P x 10 mm 2.5 mm hex  2.9  26 2x and 1x Front Derailleur Setup

13 Bottom Bracket Fender Mount 1 M5 x 0.8 mm P 4.5 40 Rear Fender

14 Front Brake Mount 2 M5, Depth: 11 mm 6-8 53-70 Front Brake

15 Rear Brake Mount 2 5.2 mm bore, Thickness: 30 mm 6-8 53-70 Rear Brake

16 Rear Derailleur Hanger S202600002 1 SRAM UDH (00.7918.089.000) 8 mm hex 25 221 Rear Derailleur Hanger

8DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/fnd-sub-my21-diverge-rear-fender-mounting-bracket-all-sizes/product/656982?variant=674395
https://b2b.specialized.com/nl/s202600002/product/659254?variant=671914


6. HEADSET

1 2 3

5D
5E

5

5C

5B

5F

5A

7C

6
9

10

8

1

2

3
4

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Fork Section 17 1 700C, Carbon, 12 mm x 100 mm, Disc, 55 mm Offset

2 Lower Headset Bearing  S222500004

S222500005

1 1.8” (56.8 mm OD x 47.8 mm ID x 6.5 mm x 45°)

3 Upper Headset Bearing S182500006 1 1.5” (45.8 mm OD x 36.8 mm ID x 6.5 mm x 45°)

4 Compression Ring 1

5

A: Future Shock Collar 1

B: Collar Barrel Nut 1

C: Collar Pinch Bolt 1 M5 x 0.8 mm P x 18 mm 4 mm hex 4 35

D: Collar Preload Screw 2 M5 x 0.8 mm P x 4.45 mm 2 mm hex

E: Collar Locking Screw 2 M5 x 0.8 mm P x 6 mm 2.5 mm hex 1 9

F: Collar Locator Bolt 1 M3 x 0.5 mm P x 4.5 mm 2.5 mm hex 1 9

6 Spacer S172500021 3 37 mm OD x 30.5 mm ID x 5 mm

9DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/hds-bearing-18-lower-headset-bearing-568od-x-478id-x-65mm-45x45-deg/product/1322637332?variant=1322637333
https://b2b.specialized.com/hds-complete-integrated-future-shock-458odx368idx65mm-upper-brg-18-lower-brg-45x45-deg-w-fully-assembled-fs-collar-compression-ring-spacers/product/1322639781?variant=1322639782
https://b2b.specialized.com/hds-bearing-future-shock-headset-upper-or-lower-bearing-458od-x-368id-x-65mm-45x45-deg/product/659451?variant=676853
https://b2b.specialized.com/hds-sub-future-shock-headset-5mm-spacer-for-fs-cartridge-30mm-idx37mm-od/product/659429?variant=676882


7A Future Shock 3.1 (Not Shown) S223100006 1
Carbon   

Paste Sport Models

7B Future Shock 3.2 (Not Shown) S223100003 1
Carbon   

Paste Comp, Expert Models

7C Future Shock 3.3 S223100002 1
Carbon   

Paste Pro Models

8 Future Shock Boot Assembly S223100001 1 All models

9 Headset Cover S192500011 1 0 mm Non-split headset cover

10 Headset Cover S192500010 1 15 mm Split headset cover

6.1.	 HEADSET STACK

30 mm
MAX

Collar

5 mm Spacer

5 mm Spacer

5 mm Spacer

5 mm Spacer

5 mm Spacer

3.5 mm Transition

30 mm
MAX

Collar
15 mm Transition

5 mm Spacer

5 mm Spacer

5 mm Spacer

2 3

1

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Spacer S172500021 3 37 mm OD x 30.5 mm ID x 5 mm

2 Headset Cover S192500010 1 15 mm Split headset cover

3 Headset Cover S192500011 1 0 mm Non-split headset cover

10DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/sus-frk-future-shock-31-cartridge-w-o-stem-shim/product/1322677503?variant=1322677504
https://b2b.specialized.com/sus-frk-future-shock-32-cartridge-w-o-stem-shim/product/1322509241?variant=1322509337
https://b2b.specialized.com/sus-frk-future-shock-33-cartridge-w-o-stem-shim/product/1322509275?variant=1322509351
https://b2b.specialized.com/sus-frk-future-shock-30-boot-assy/product/1322509201?variant=1322509335
https://b2b.specialized.com/hds-sub-future-shock-headset-1-piece-top-cover-short-bill-0mm-stack/product/659470?variant=676948
https://b2b.specialized.com/hds-sub-future-shock-headset-2-piece-top-cover-short-bill-15mm-stack/product/659469?variant=676947
https://b2b.specialized.com/hds-sub-future-shock-headset-5mm-spacer-for-fs-cartridge-30mm-idx37mm-od/product/659429?variant=676882
https://b2b.specialized.com/hds-sub-future-shock-headset-2-piece-top-cover-short-bill-15mm-stack/product/659469?variant=676947
https://b2b.specialized.com/hds-sub-future-shock-headset-1-piece-top-cover-short-bill-0mm-stack/product/659470?variant=676948


7.  STEM AND HEADSET CAP

1A

7

1

3

1B

1D

1C

6

5

4

2
2C

2A 2B

2D

# PART NAME PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Future Stem Comp

20021-1804 1 31.8 mm X 100 mm 6D Sport and Comp Models

20021-1805 1 31.8 mm X 110 mm 6D Sport and Comp Models

20021-1806 1 31.8 mm X 120 mm 6D Sport and Comp Models

20021-1800 1 31.8 mm X 60 mm 6D Sport and Comp Models

20021-1801 1 31.8 mm X 70 mm 6D Sport and Comp Models

20021-1802 1 31.8 mm X 80 mm 6D Sport and Comp Models

20021-1803 1 31.8 mm X 90 mm 6D Sport and Comp Models

11DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676
https://b2b.specialized.com/future-stem-comp/product/654327?variant=669676


1 Future Stem S-Works

20020-1707 1 31.8 mm x 130 mm 6D Expert Models

20020-1706 1 31.8 mm x 120 mm 6D Expert Models

20020-1705 1 31.8 mm x 110 mm 6D Expert Models

20020-1704 1 31.8 mm x 100 mm 6D Expert Models

20020-1703 1 31.8 mm x 90 mm 6D Expert Models

20020-1702 1 31.8 mm x 80 mm 6D Expert Models

20020-1701 1 31.8 mm x 70 mm 6D Expert Models

20020-1700 1 31.8 mm x 60 mm 6D Expert Models

1A Future Stem Faceplate Bolts 4 M5 x 0.8 mm P x 15 mm 4 mm hex 5 44

1B Future Stem Faceplate Washers 4 8 mm OD x 4.7 mm ID x 1 mm

1C Future Stem Steerer Bolts 2 M5 x 0.8 mm P x 15 mm 4 mm hex 5 44

1D Future Stem Steerer Washers 2 8 mm OD x 4.7 mm ID x 1 mm

2 Roval Alpinist Stem

20023-0024 1 31.8 mm  x 100 mm 6D Pro Models

20023-0025 1 31.8 mm x 110 mm 6D Pro Models

20023-0023 1 31.8 mm x 90 mm 6D Pro Models

20023-0022 1 31.8 mm x 80 mm 6D Pro Models

20023-0021 1 31.8 mm x 70 mm 6D Pro Models

20023-0020 1 31.8 mm x 60 mm 6D Pro Models

2A Roval Alpinist Stem Faceplate Bolts 4 M5 x 0.8 mm P x 18 mm 4 mm hex 5 44

2B Roval Alpinist Stem Faceplate Washers 4 8 mm OD x 5.2 mm ID x 0.8 mm

2C Roval Alpinist Stem Steerer Bolts 2 M5 x 0.8 mm P x 18 mm 4 mm hex 5 44

2D Roval Alpinist Stem Steerer Washers 2 8 mm OD x 5.2 mm ID x 0.8 mm

3 Future Shock 3.0 Stem Shim S234800001 1 24.5 mm ID / 28.6 mm OD (1-1/8” Stem)

4 Future Shock 3.1 S223100006 1 Sport Models

4 Future Shock 3.2 S223100003 1 Comp, Expert Models

5 Future Shock 3.1 / 3.2 Top Cap and Bolt S223100007 1 M3 x 0.5 mm P x 8 mm (countersunk bolt) 4 mm hex 5 44 Sport, Comp, Expert Models

6 Future Shock 3.3 S223100002 1 Pro Models

7 Future Shock 3.3 Adjuster Knob & Bolt S223100005 1 M4 x 0.7 mm P x 4 mm (custom extended tip) 4 mm hex 5 44 Pro Models

12DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/s-works-future-stem/product/654326?variant=667887
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/roval-alpinist-stem/product/1322627823?variant=1322627824
https://b2b.specialized.com/stm-sub-future-shock-30-stem-shim-245mm-id-286mm-od-for-mounting-1-1-8-stem/product/1322689659?variant=1322689660
https://b2b.specialized.com/sus-frk-future-shock-31-cartridge-w-o-stem-shim/product/1322677503?variant=1322677504
https://b2b.specialized.com/sus-frk-future-shock-32-cartridge-w-o-stem-shim/product/1322509241?variant=1322509337
https://b2b.specialized.com/sus-frk-future-shock-32-31-cartridge-top-cap-bolt/product/1322644025?variant=1322644026
https://b2b.specialized.com/sus-frk-future-shock-33-cartridge-w-o-stem-shim/product/1322509275?variant=1322509351
https://b2b.specialized.com/sus-frk-future-shock-33-cartridge-adjustment-knob-bolt/product/1322681492?variant=1322681494


8. HEADSET COLLAR

1E

1D

1

2

3

1C

1A 1F

2.5

2.5

2

3

3

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1

A: Future Shock Collar

S222500005

1

B: Collar Barrel Nut (Not Shown) 1

C: Collar Pinch Bolt 1 M5 x 0.8 mm P x 18 mm 4 mm hex 4 35

D: Collar Preload Screw 2 M5 x 0.8 mm P x 4.45 mm 2 mm hex

E: Collar Locking Screw 2 M5 x 0.8 mm P x 6 mm 2.5 mm hex 1 9

F: Collar Locator Bolt 1 M3 x 0.5 mm P x 4.5 mm 2.5 mm hex 1 9

2 Future Shock Collar Hex Bit (Not Shown) S175300015 1 Long 4 mm (1/4”) Hex Bit For Future Shock Collar Bolt Tool

3 Future Shock Collar Flat Wrench S195300002 1 3 mm Preload Screw Adjustment Wrench Tool

13DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/hds-complete-integrated-future-shock-458odx368idx65mm-upper-brg-18-lower-brg-45x45-deg-w-fully-assembled-fs-collar-compression-ring-spacers/product/1322639781?variant=1322639782
https://b2b.specialized.com/tol-long-4mm-bit-for-future-shock-collar-bolt-1-4-hex-bit/product/663298?variant=673188
https://b2b.specialized.com/tol-future-shock-collar-3mm-preload-adj-wrench-w-spare-preload-set-screw-m5x08px445mm-length/product/663329?variant=673172


9. HEAD TUBE ICR PORTS 

1 2 3

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 ICR Port 0 Hole (Cover)

S209900020

1 M3 x 0.5 mm P x 12 mm 2 mm hex  0.8  7

2 ICR Port 1 Hole 1 M3 x 0.5 mm P x 12 mm 2 mm hex  0.8  7

3 ICR Port 2 Hole 1 M3 x 0.5 mm P x 12 mm 2 mm hex  0.8  7

14DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/cbg-hood-scoop-kit-my21-diverge-icr-entry-port-covers-kit-2-cable-1-cable-blank-cover/product/655679?variant=674389


10. SEATPOSTS AND SEATPOST COLLAR

2A

1A

12
3A

3

# PART NAME PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 OE Spec 27.2 Seatpost

2812-3048 1 27.2 mm x 300 mm Sport Models

2810-3050 1 27.2 mm x 350 mm Sport Models

2812-3049 1 27.2 mm x 400 mm Sport Models

1A Saddle Rail Bolt 1 M6 x 1.0 mm P x 51 mm 5 mm hex 12.5 110

2 Roval Terra Seatpost

28121-3800 1 27.2 mm x 330 mm (0 mm Offset) All Models Except Sport

28121-3805 1 27.2 mm x 330 mm (20 mm Offset) All Models Except Sport

28121-3810 1 27.2 mm x 380 mm (0 mm Offset) All Models Except Sport

28121-3815 1 27.2 mm x 380 mm (20 mm Offset) All Models Except Sport

2A Saddle Rail Bolt 1 M6 x 1.0 mm P x 37 mm 5 mm hex 13.5 120

3 Seatpost Clamp
S194700002

1 30.8 mm Diameter

3A Seatpost Clamp Bolt 1 M5 x 0.8 mm P x 18 mm 4 mm hex  6.2  55

15DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/pro-2-alloy-mtb-seatpost/product/654308?variant=664766
https://b2b.specialized.com/pro-2-alloy-mtb-seatpost/product/654308?variant=664766
https://b2b.specialized.com/pro-2-alloy-mtb-seatpost/product/654308?variant=664766
https://b2b.specialized.com/roval-terra-seatpost/product/654318?variant=669635
https://b2b.specialized.com/roval-terra-seatpost/product/654318?variant=669635
https://b2b.specialized.com/roval-terra-seatpost/product/654318?variant=669635
https://b2b.specialized.com/roval-terra-seatpost/product/654318?variant=669635
https://b2b.specialized.com/stc-308mm-seatpost-clamp-bolt-on-collar/product/660612?variant=673447


11. DOWNTUBE MOUNT AND PROTECTOR

3

1

4

5

6

2

7

# PART NAME PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Down Tube Mount Bulkhead S209900017 1 Down tube mounted Di2 battery compatible

2 Down Tube Mount Inner Bracket S259900002 1 Not OE spec (available as a replacement part) Not compatible with a down tube mounted Di2 battery

3 Down Tube Mount Outer Bracket S209900016 1

4 Down Tube Mount Bolt S179900036 1 M4 x 0.7 mm P x 12 mm 2.5 mm hex 0.8 7

5 Down Tube Mount Accessory Bolts S230500005 2 M5 x 0.8 mm P x 11.5 mm 3 mm hex 2.8 25 Bottle cage std, accessories

6 Down Tube Protector S209900018 1 Adhesive backing

7 Down Tube Mylar Protector 1 Pre-applied at factory

16DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/s209900017/product/663164?variant=674392
https://b2b.specialized.com/nl/s209900016/product/663163?variant=674393
https://b2b.specialized.com/blt-plug-screw-for-threaded-frame-inserts-2mm-hex-head-m4x07px9mm-alloy-black-1-pcs/product/655662?variant=674120
https://b2b.specialized.com/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/nl/s209900018/product/659947?variant=674394


12. SWAT

1

3

2

4

6

7

5

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 SWAT 4.0 Door

S239900003

1

2 SWAT 4.0 Threaded Inserts 2
SWAT 4.0 threaded inserts should be placed 
in the high position on size 49 and 52 bicycles 
when two water bottles are installed.

3 SWAT 4.0 Bottle Cage Bolts S230500005 2 M5 x 0.8 mm P x 10 mm 3 mm hex  2.8  25
 

4 SWAT Pod S229900016 1 Large 270 mm

5 SWAT Pod S229900017 1 Small 200 mm

6 SWAT 4.0 Race Kit
S249900004

1 Not OE spec (available as a replacement part) Not compatible with SWAT Pod

7 SWAT 4.0 Race Kit Bolts 2 M4  x 0.7 mm P x 8 mm 2.5 mm hex 2.5  22
 

17DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/msc-swat-40-door-assembly/product/1322689707?variant=1322689708
https://b2b.specialized.com/nl/blt-s-works-water-bottle-cage-bolts-short-version-m5x08px10l-alloy/product/1322680670?variant=1322680671
https://b2b.specialized.com/nl/msc-swat-downtube-swat-pod-large-270mm-length/product/1322637051?variant=1322637052
https://b2b.specialized.com/nl/msc-swat-downtube-swat-pod-small-200mm-length/product/1322637054?variant=1322637055
https://b2b.specialized.com/nl/msc-swat-40-swat-race-kit/product/1322707595?variant=1322707596


13. CHAINSTAY PROTECTOR

1

2

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Chainstay Protector
S206900002

1

2 Chainstay Protector Bolt S179900036 3 M4 x 0.7 mm P x 9 mm 2 mm hex  0.8  7
 

18DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/s206900002/product/659801?variant=670756
https://b2b.specialized.com/nl/s179900036/product/655662?variant=674120


14. CABLE ROUTING SCHEMATIC

3

1

2

Di2
SRAM AXS &

1X SETUP
MECHANICAL

SHIFTING

6 7 8

Di2
SRAM AXS &

1X SETUP
MECHANICAL

SHIFTING

6 7 8

4

5

5

4
REAR DERAILLEUR

REAR BRAKE

FRONT BRAKE

FRONT DERAILLEUR

DROPPER SEATPOST

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Front Derailleur Hanger (2x Setup)
S201900001

1

2 Front Derailleur Hanger Bolts (2x Setup) 2 M4 x 0.7 mm P x 10 mm 2.5 mm hex  2.9  26
 

3 Front Derailleur Blocking Bolts (1x Setup) S179900036 2 M4 x 0.7 mm P x 10 mm 2.5 mm hex  2.9  26
 

19DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/s201900001/product/659250?variant=678634
https://b2b.specialized.com/blt-plug-screw-for-threaded-frame-inserts-2mm-hex-head-m4x07px9mm-alloy-black-1-pcs/product/655662?variant=674120


4 Self Adhesive ICR Channel S256500002 1 Self Adhesive backing For non-OE spec setup order a second ICR 
channel for drive side down tube, if required.

5 ICR Grommet (Hose and Housing) S179900013 3 5 mm Split Grommet, Angled Top, 7.5 mm

6 ICR Grommet (Di2) S159900006 1 7 mm OD x 2.7 mm ID Split Grommet

7 ICR Plug (SRAM AXS and 1x Setup) S179900015 1  Rubber Plug, Flat Top, 7 mm

8 ICR Grommet (Mechanical Shifting) S169900008 1 7 mm OD x 4 mm ID Split Grommet

20DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/s179900013/product/655517?variant=670078
https://b2b.specialized.com/cbg-grommet-derailleur-exit-port-split-rubber-grommet-for-di2-7mm-od-x-27mm-id/product/655515?variant=670073
https://b2b.specialized.com/nl/s179900015/product/655518?variant=670079
https://b2b.specialized.com/cbg-grommet-chainsaty-exit-port-split-rubber-grommet-for-4mm-shift-housing-flat-top-7mm-od-x-4mm-id/product/655655?variant=674148


15. CABLE ROUTING SCHEMATIC - SHIMANO DI2

2

Di2

3

1

4

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE THREAD

PREPARATION COMMENT
Nm in-lbf

1 Self Adhesive ICR Channel S256500002 1 Self Adhesive backing

2 Di2 Battery Sleeve S209900014 1 Di2 Battery Mounting kit Seatpost mounted Di2 battery (not 
dropper seatpost compatible)

3 ICR Grommet (Di2) S159900006 1 7 mm OD x 2.7 mm ID Split Grommet

4 Down Tube Mount Bulkhead S209900017 1 Down tube mounted Di2 battery (dropper 
seatpost compatible)

21DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/stp-sub-roval-terra-seatpost-di2-battery-mounting-kit/product/660760?variant=674396
https://b2b.specialized.com/cbg-grommet-derailleur-exit-port-split-rubber-grommet-for-di2-7mm-od-x-27mm-id/product/655515?variant=670073
https://b2b.specialized.com/nl/s209900017/product/663164?variant=674392


16. WHEELS AND HUBS
16.1.	 WH-DT G540 DISC DT MS

SPECIFICATION FRONT REAR

Model Number DT G540 Disc Micro Spline

Colorway Anodized Satin Black Smoke

Wheel Size 700C

E.T.R.T.O. / Bead Seat 
Diameter 622 mm

ERD (Effective Rim Diameter) 592 mm

Weight

Rim construction Clincher Hooked

Rim Weight (g) 565g +- 5%

Rim Material Aluminum Alloy

Brake Compatibility Disc (Centerlock)

Tubeless Compatibility Yes

Rim DT Swiss G540, 700c

Rim Holes 24 H

Rim
Dimensions

A: Depth 25 
mm

25 
mm

B: Internal 
Width

24 
mm

24 
mm

C: External 
Width

28 
mm

28 
mm

Valve Type Presta

Valve Length 40 mm

Hub Type

Hub Bearing Type Sealed Cartridge Bearing Sealed Cartridge Bearing

Hub Spacing 100 mm 142 mm

Brake Type Disc (Centerlock) Disc (Centerlock)

Bearing 
Dimensions

DS

NDS

Casette Interface Shimano Micro Spline

Freehub Body Shimano Micro Spline

Freehub System 3-Pawl

SPECIFICATION FRONT REAR

Spoke Type J Bend 

Spoke Model DT Swiss Champion

Lacing Pattern 2-Cross

Spoke Count 24 - 12:12 24 - 12:12

Spoke length
DS 285 mm  282 mm

NDS 284 mm 284 mm

Nipples DT Swiss, Brass, 2.0 x 12 mm

Nipple Size 2.0 x 12 mm (14g)

Approved Tire Widths min/max tire width is dictated by frame, fork and fenders. See section Compatibility 
Specifications for details

Max Rim 
Pressure *

Tire Size 
43 mm

Tubeless 3.7 bar / 54 psi 
Tubed 5 bar / 73 psi

Tire Size 
47 mm

Tubeless 3.5 bar / 51 psi 
Tubed 4.7 bar / 68 psi

Tire Size 
50 mm

Tubeless 3.3 bar / 48 psi 
Tubed 4.4 bar / 64 psi

Max Weight Limit 275 lbs / 125 kg

Rim Tape Width DT, tubeless compatible, 27mm wide

 *Always adhere to the max tire pressure of the used tire.

22DIVERGE 4 CARBON SERVICE PART GUIDE 



16.2.	 WH-DT G540 DISC

SPECIFICATION FRONT REAR

Model Number DT G540 Disc Shimano 11-Spd. Road

Colorway Anodized Satin Black Smoke

Wheel Size 700C

E.T.R.T.O. / Bead Seat 
Diameter 622 mm

ERD (Effective Rim Diameter) 592 mm

Weight

Rim construction Clincher Hooked

Rim Weight (g) 565g +- 5%

Rim Material Aluminium Alloy

Brake Compatibility Disc (Centerlock)

Tubeless Compatibility Yes

Rim DT Swiss G540 Disc, 700C

Rim Holes 24 H

Rim
Dimensions

A: Depth 25 
mm

25 
mm

B: Internal 
Width

24 
mm

24 
mm

C: External 
Width

28 
mm

28 
mm

Valve Type Presta

Valve Length 40 mm

Hub Type

Hub Bearing Type SB-6903 (17 mm x 30 mm x 7 mm)

Hub Spacing 100 mm 142 mm

Brake Type Disc (Centerlock) Disc (Centerlock)

Bearing 
Dimensions

DS

NDS

Casette Interface Shimano HG

Freehub Body Shimano 11-Spd. Road

Freehub System 3-Pawl

Spoke Type J Bend 

SPECIFICATION FRONT REAR

Spoke Model DT Swiss Champion

Lacing Pattern 2-Cross

Spoke Count 24 - 12:12 24 - 12:12

Spoke length
DS 286 mm  282 mm

NDS 284 mm 283 mm

Nipples DT Swiss, Brass, 2.0 x 12 mm

Nipple Size 2.0 x 12 mm (14g)

Approved Tire Widths min/max tire width is dictated by frame, fork and fenders. See section Compatibility 
Specifications for details

Max Rim 
Pressure *

Tire Size 
43 mm

Tubeless 3.7 bar / 54 psi 
Tubed 5 bar / 73 psi

Tire Size 
47 mm

Tubeless 3.5 bar / 51 psi 
Tubed 4.7 bar / 68 psi

Tire Size 
50 mm

Tubeless 3.3 bar / 48 psi 
Tubed 4.4 bar / 64 psi

Max Weight Limit 275 lbs / 125 kg

Rim Tape Width DT, tubeless compatible, 27mm wide

 *Always adhere to the max tire pressure of the used tire.

23DIVERGE 4 CARBON SERVICE PART GUIDE 



16.3.	 WH-TERRA C

SPECIFICATION FRONT REAR

Model Number WH-TERRA C

Colorway Satin Carbon / Black

Wheel Size 700C

E.T.R.T.O. / Bead Seat 
Diameter 622 mm

ERD (Effective Rim Diameter) 575 mm

Weight

Rim construction Clincher Hooked

Rim Weight (g)

Rim Material Carbon

Brake Compatibility Disc (Centerlock)

Tubeless Compatibility Yes

Rim Roval Terra C

Rim Holes 24 H

Rim
Dimensions

A: Depth 32 
mm

32 
mm

B: Internal 
Width

25 
mm

25 
mm

C: External 
Width

29 
mm

29 
mm

Valve Type Presta

Valve Length 50 mm

Hub Type DT Swiss 370 DT Swiss 370

Hub Bearing Type DT Swiss 6902 ESB/ESNB L DT Swiss 6902 ESB/ESNB L

Hub Spacing 100 mm x 12 mm 142 mm x 12 mm

Brake Type Disc (Centerlock) Disc (Centerlock)

Bearing 
Dimensions

DS 15 mm ID x 28 mm  OD x 7 mm THICK

NDS 15 mm ID x 28 mm  OD x 7 mm THICK

Casette Interface Shimano HG

Freehub Body Shimano 11-Spd. Road

Freehub System DT Swiss Ratchet LN (18T)

Spoke Type J Bend 

SPECIFICATION FRONT REAR

Spoke Model DT Competition Race

Lacing Pattern
DS Radial  2-Cross

NDS 2-Cross 2-Cross

Spoke Count 24 - 12:12 24 - 12:12

Spoke length
DS 268 mm  277 mm

NDS 279 mm 279 mm

Nipples DT Pro Lock Hex, Alloy, 2.0 x 14 mm

Nipple Size 2.0  x 14 mm (14g)

Approved Tire Widths min/max tire width is dictated by frame, fork and fenders. See section Compatibility 
Specifications for details

Max Rim 
Pressure *

Tire Size 
28 - 32 
mm

Tubeless 5.5 bar / 80 psi 
Tubed 6.2 bar / 90 psi

Tire Size 
33 - 36 
mm

Tubeless 4.5 bar / 65 psi 
Tubed 5.9 bar / 85 psi

Tire Size 
37 - 47 
mm

Tubeless 4.1 bar / 60 psi 
Tubed 5.2 bar / 75 psi

Max Weight Limit 275 lbs / 125 kg

Rim Tape Width Roval Tubeless Tape, 27mm wide

 *Always adhere to the max tire pressure of the used tire.

24DIVERGE 4 CARBON SERVICE PART GUIDE 



16.4.	 WH-TERRA C XDR

SPECIFICATION FRONT REAR

Model Number WH-TERRA C XDR

Colorway Satin Carbon / Black

Wheel Size 700C

E.T.R.T.O. / Bead Seat 
Diameter 622 mm

ERD (Effective Rim Diameter) 575 mm

Weight

Rim construction Clincher Hooked

Rim Weight (g)

Rim Material Carbon

Brake Compatibility Disc (Centerlock)

Tubeless Compatibility Yes

Rim Roval Terra C

Rim Holes 24 H

Rim
Dimensions

A: Depth 32 
mm

32 
mm

B: Internal 
Width

25 
mm

25 
mm

C: External 
Width

29 
mm

29 
mm

Valve Type Presta

Valve Length 50 mm

Hub Type DT Swiss 370 DT Swiss 370

Hub Bearing Type DT Swiss 6902 ESB/ESNB L DT Swiss 6902 ESB/ESNB L

Hub Spacing 100 mm x 12 mm 142 mm x 12 mm

Brake Type Disc (Centerlock) Disc (Centerlock)

Bearing 
Dimensions

DS 15 mm ID x 28 mm  OD x 7 mm THICK

NDS 15 mm ID x 28 mm  OD x 7 mm THICK

Casette Interface Sram XD-R

Freehub Body Sram XD-R

Freehub System DT Swiss Ratchet LN (18T)

Spoke Type J Bend 

SPECIFICATION FRONT REAR

Spoke Model DT Competition Race

Lacing Pattern
DS Radial  2-Cross

NDS 2-Cross 2-Cross

Spoke Count 24 - 12:12 24 - 12:12

Spoke length
DS 268 mm  277 mm

NDS 279 mm 279 mm

Nipples DT Pro Lock Hex, Alloy, 2.0 x 14 mm

Nipple Size 2.0  x 14 mm (14g)

Approved Tire Widths min/max tire width is dictated by frame, fork and fenders. See section Compatibility 
Specifications for details

Max Rim 
Pressure *

Tire Size 
28 - 32 
mm

Tubeless 5.5 bar / 80 psi 
Tubed 6.2 bar / 90 psi

Tire Size 
33 - 36 
mm

Tubeless 4.5 bar / 65 psi 
Tubed 5.9 bar / 85 psi

Tire Size 
37 - 47 
mm

Tubeless 4.1 bar / 60 psi 
Tubed 5.2 bar / 75 psi

Max Weight Limit 275 lbs / 125 kg

Rim Tape Width Roval Tubeless Tape, 27mm wide

 
*Always adhere to the max tire pressure of the used tire.

25DIVERGE 4 CARBON SERVICE PART GUIDE 



16.5.	 WH-TERRA CL XDR

SPECIFICATION FRONT REAR

Model Number Roval Terra CL XD-R

Colorway Satin Carbon / Black

Wheel Size 700C

E.T.R.T.O. / Bead Seat 
Diameter 622 mm

ERD (Effective Rim Diameter) 577 mm

Weight 654g (includes 15g for tubeless tape & 
valve)

754g (includes 15g for tubeless tape & 
valve)

Rim construction Clincher Hooked

Rim Weight (g)

Rim Material Carbon

Brake Compatibility Disc (Centerlock)

Tubeless Compatibility Yes

Rim Roval Terra CL

Rim Holes 24 H

Rim
Dimensions

A: Depth 32 
mm

32 
mm

B: Internal 
Width

25 
mm

25 
mm

C: External 
Width

30 
mm

30 
mm

Valve Type Presta

Valve Length 50 mm

Hub Type DT Swiss 350 DT Swiss 350

Hub Bearing Type

Hub Spacing 100 mm x 12 mm 142 mm x 12 mm

Brake Type Disc (Centerlock) Disc (Centerlock)

Bearing 
Dimensions

DS 15 mm ID x 28 mm  OD x 7 mm THICK

NDS 15 mm ID x 28 mm  OD x 7 mm THICK

Casette Interface Sram XD-R

Freehub Body Sram XD-R

Freehub System DT Swiss Star Ratchet (36T)

Spoke Type Straight-Pull

SPECIFICATION FRONT REAR

Spoke Model DT Competition Race

Lacing Pattern 2-Cross

Spoke Count 24 - 12:12 24 - 12:12

Spoke length
DS 287 mm  284 mm

NDS 286 mm 287 mm

Nipples DT Pro lock Hex, Alloy, 2.0 x 14 mm

Nipple Size 2.0 x 14 mm (14g)

Approved Tire Widths Min/Max tire width is dictated by frame, fork and fenders. See section Compatibility 
Specifications for details

Max Rim 
Pressure *

Tire Size 
28 - 32 
mm

Tubeless 5.5 bar / 80 psi 
Tubed 6.2 bar / 90 psi

Tire Size 
33 - 36 
mm

Tubeless 4.5 bar / 65 psi 
Tubed 5.9 bar / 85 psi

Tire Size 
37 - 47 
mm

Tubeless 4.1 bar / 60 psi 
Tubed 5.2 bar / 75 psi

Max Weight Limit 275 lbs / 125 kg

Rim Tape Width Roval Tubeless Tape, 27mm wide

 *Always adhere to the max tire pressure of the used tire.

26DIVERGE 4 CARBON SERVICE PART GUIDE 



17. SERVICE PARTS LIST

# PART NAME PART # PART # QTY SPEC TOOL
 TORQUE

COMMENT
Nm in-lbf

Fork MY26 Future Shock (M1.1) S252300001 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 105MM ST - SATIN BLACK Comp, Expert, and Pro Models

Fork MY26 Future Shock (M1.1) S252300002 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 119MM ST - SATIN BLACK Comp, Expert, and Pro Models

Fork MY26 Future Shock (M1.1) S252300003 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 131MM ST - SATIN BLACK Comp, Expert, and Pro Models

Fork MY26 Future Shock (M1.1) S252300004 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 150MM ST - SATIN BLACK Comp, Expert, and Pro Models

Fork MY26 Future Shock (M1.1) S252300005 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 176MM ST - SATIN BLACK Comp, Expert, and Pro Models

Fork MY26 Future Shock (M1.1) S252300006 1 700C, TA, CARBON, 12X100MM , DISC , 55MM OFFSET, 202MM ST - SATIN BLACK Comp, Expert, and Pro Models

Roval Terra Road Handlebar 21022-0538 1 31.8 mm x 380 mm (Black / Charcoal)

Roval Terra Road Handlebar 21022-0540 1 31.8 mm x 400 mm (Black / Charcoal)

Roval Terra Road Handlebar 21022-0542 1 31.8 mm x 420 mm (Black / Charcoal)

Roval Terra Road Handlebar 21022-0544 1 31.8 mm x 440 mm (Black / Charcoal)

Future Shock 3.0 Roller Bearing 
Service Kit S223100004 1

Future Shock 3.2 Cartridge 
Replacement Thru Damper Assembly S223100008 1

Future Shock 3.3 Cartridge 
Replacement Thru Damper Assembly S223100009 1 Pro Models

Future Shock 3.0 Shaft Clamp Set S235300003 1 30 mm Shaft Clamp Tool

Future Shock 3.0 Roller Cage Bottom 
Out Timing Tool S235300004 1 Tool

Future Shock 3.0 Seal Cap Splined 
Socket S235300005 1 Tool

Future Shock Collar Hex Bit S175300015 1 LONG 4MM BIT FOR FUTURE SHOCK COLLAR BOLT (1/4” HEX BIT) Tool

SWAT Tire Lever S145300005 1 MY14 TIRE LEVER FOR SWAT BOX Tool

27DIVERGE 4 CARBON SERVICE PART GUIDE 

https://b2b.specialized.com/nl/roval-terra/product/752000?variant=752002
https://b2b.specialized.com/nl/roval-terra/product/752000?variant=752002
https://b2b.specialized.com/nl/roval-terra/product/752000?variant=752002
https://b2b.specialized.com/nl/roval-terra/product/752000?variant=752002
https://b2b.specialized.com/nl/sus-frk-future-shock-30-roller-bearing-service-kit/product/1322509215?variant=1322509338
https://b2b.specialized.com/nl/sus-frk-future-shock-32-cartridge-replacement-thru-damper-assy/product/1322689626?variant=1322689627
https://b2b.specialized.com/nl/sus-frk-future-shock-33-cartridge-replacement-thru-damper-assy/product/1322689629?variant=1322689630
https://b2b.specialized.com/nl/tol-future-shock-30-30mm-shaft-clamp-set/product/1322650976?variant=1322650977
https://b2b.specialized.com/nl/tol-future-shock-30-roller-cage-bottom-out-timing-tool/product/1322650979?variant=1322650980
https://b2b.specialized.com/nl/tol-future-shock-30-seal-cap-splined-socket/product/1322650982?variant=1322650983
https://b2b.specialized.com/nl/s175300015/product/663298?variant=673188
https://b2b.specialized.com/nl/s145300005/product/663256?variant=673097


SPECIALIZED BICYCLE COMPONENTS
15130 Concord Circle, Morgan Hill, CA 95037 (408) 779-6229


